éhf“:/mﬁ/dub/ﬁggfju‘.ﬁ
DDE ‘@@ S EHOY)

el L v n 802t e sDICBANZ L L 1]
Jlrgﬂul}fu!»:..d(dli-Kr/r"bkuliqu u/!"d/e.// VKLL// fgﬂ/bvb;

\

nwwuﬁ
(EE L

_LC/JWIK)))’M’LJ/!{JJ Jf/(‘k.)w(j/b.u/rl/u"uu”p(ubk u’/

Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Writc PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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O3 NOy SO, CO, Global warming causes rising of sea ~c_ujo’u:’/
level, The cause of global warming is
A1 %,{30‘/ K K15 K35 szt AU e 399U T | 2
11 Km 30 Km 15 Km 35 Km About 997 of atmosphere’s mass lies within
T dLiz _»/ug;ésv’ Aty fe (PpY] ¢ e JH LSS Ay | 3
Quick lime Lime water | Na, zeolite Soda lime Permanent hardness is removed by adding
oelisblse ./' ut iz Xt Which ¢« Forbr§ LS ufeidizm | 4
Hepatitis Cholera Jaundice Typhoid one of the following discases causes liver inflammation
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450 C 400 C 350 C 300 C M
Crude oil is heated in fumgq@ ' O
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Reaction can ./‘:.L"yz/,l/, 14
Speeds of
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. N/ ons \J andproducts
proceed
Q qual | areequal
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NaZSiO3 CaO NaCl CaClz
Which one of the salts is used to dry a gas?
gﬁdﬂ gf':":f/_) u%d‘-{/ f"/’jT -u};’:f%ﬂﬂ&gbd—gt{/i'd/( 8
Condensation | Resonance | Catenation Isomerism | The ability of carbon atoms to form chain is called
P 4 5 =
e L4 J Uss g -c‘_/{Uuéf‘/L/ufc,u:J_J,?Jﬂ 9
Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
Jfél)fuf-;/“ d}@lfw,ﬁl , J/ffélf J.«,',l.ﬂl}‘?? ?q_@IZgVung'igTierMnoﬂz S(Ethene)e 1 | .10
Propane Ethcne\/ Glyoxal Oxalic acid | Oxidation of ethene with KMnO, produces
Glycol Glycol
u(){ J:/C Ik el _c‘-t‘nl,g;c.,féva;’} 511
Glucose Sucrose Cellulose Starch Photosynthesis process produces
NO SO co SO “:_L“rJMﬁ-_w&f@’u/&&f/tu}(b 12
¥ i ’ . Normally rain water is weakly acidic due to the gasf.,
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